Classified and Management
Tax Implications When Adding a Domestic Partner to

Medical, Vision, ODS Dental Insurance Benefits
(Effective July 1, 2011)
Scenario #1:

Employee currently has employee only insurance benefits and wishes to add their
domestic partner to the insurance.

Cost of employee only coverage: $694.86
Cost of employee +1 coverage: $1,573.80

Taxable difference between employee only and employee +1 benefits = $878.94 per
month divided by 2 = $439.47 per pay period that will be added to your taxable income.

Scenario #2:

Employee currently has employee only insurance benefits and wishes to add their
domestic partner and their domestic partner’s children to the insurance.

Cost of employee only: $694.86
Cost of full-family coverage: $1,973.98

Taxable difference between employee only and full-family (3 or more dependents)
benefits = $1,279.12 per month divided by 2 = $639.56, per pay period that will be
added to your taxable income.

Scenario #3:

Employee currently has employee +1 (employee plus child) insurance benefits and
wishes to add their domestic partner to the insurance.

Cost of employee +1 coverage: $1,573.80
Cost of full-family coverage: $1,973.98

Taxable difference between employee +1 and full-family coverage benefits = $400.18
divided by 2 = $200.09 per pay period that will be added to your taxable income.

Scenario #4:

Employee currently has employee +1 (employee plus child) insurance benefits and
wishes to add their domestic partner and domestic partner’s children to the insurance.

The cost in this example would be the same as the cost in Scenario #3.

* All costs listed are a combined total of employee (if applicable) and employer
contributions
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Classified and Management
Tax Implications When Adding a Domestic Partner to

Medical, Vision, Willamette Dental Insurance Benefits
(Effective July 1, 2011)

Scenario #1:

Employee currently has employee only insurance benefits and wishes to add their
domestic partner to the insurance.

Cost of employee only coverage: $683.21
Cost of employee +1 coverage: $1,552.27

Taxable difference between employee only and employee +1 benefits = $869.06 per
month divided by 2 = $434.53 per pay period that will be added to your taxable income.

Scenario #2:

Employee currently has employee only insurance benefits and wishes to add their
domestic partner and their domestic partner’s children to the insurance.

Cost of employee only: $683.21
Cost of full-family coverage: $1,938.98

Taxable difference between employee only and full-family (3 or more dependents)
benefits = $1,255.77 per month divided by 2 = $627.89 per pay period that will be added
to your taxable income.

Scenario #3:

Employee currently has employee +1 (employee plus child) insurance benefits and
wishes to add their domestic partner to the insurance.

Cost of employee +1 coverage: $1,552.27
Cost of full-family coverage: $1,938.98

Taxable difference between employee +1 and full-family coverage benefits = $386.71
divided by 2 = $193.36 per pay period that will be added to your taxable income.

Scenario #4:

Employee currently has employee +1 (employee plus child) insurance benefits and
wishes to add their domestic partner and domestic partner’s children to the insurance.

The cost in this example would be the same as the cost in Scenario #3.

* All costs listed are a combined total of employee (if applicable) and employer
contributions
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